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wrgf aflerrggrer / MODEL QUESTION PAPER - 2019-2020
VIll Standard Science
10lp wpmin gymiglev suyd) / TAMIL & ENGLISH VERSION

Gmrip: 15 Bl _miger + 2.00 wewf] CwrdHs wH G LTS 60

Time allowed: 15 Minutes + 2.00 Hours Maximum Marks: 60

pleyewrast (1) ez ellarrasepd  Flurs  ueurd o srersm
TOTLISMST Fifl LUTTSHHIH GEmerereyd.  dFaliuglailsy
GHewmuil(pLiLilesr WM & UOT S Tewvt] L1Limen LD
2 L erigwirsg OlgflaildsseyLb.
(2) Bevd evevg S ewwuilewer L HGWL TGS D ELD
I35CHETIyHeusNGD  LweTUBSHS CousnuT(HLd. LIL BILH6T
umTaUSN @ GlLTFL LIweTL(HSS e LD.
Instructions : (1) Check the question paper for fairness of printing. If

there is any lack of fairness, inform the Hall
supervisor immediately

(2) Use Blue or Black ink to write and underline and
pencil to draw diagrams.

L@ — | | PART-

G@olly: (i) oemearsg aflarrdssend @ allenL_wer 12x1=12
(ii) lseyb CuTHGSwTeT allewL_eww CsiH6\%HSH BT GHDIuTL (HL_ssr
allewL_uileweruid 6T(LpHI%
Note: (i) Answer all the questions
(i) Choose the most suitable answer and write the code with the

corresponding answer.
1. &L Bl L GFl6L euaflossdrL eV &) (1pHSHS6T Lol
9) 76 Q&.16 LUTHTFSHSIDLILD <) 760 Q&..f UTHTFSHSIOLILD
@) 176 Q&..5 uTHTFSS LD i) GLoM) % 6UTL_ 963 63T S| LD
The value of the atmospheric pressure at sea level is

a) 76 cm of mercury column b) 760 cm of mercury column

c) 176 cm of mercury column d) 7.6 cm of mercury column
www.kalvichudar.com
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2. @uenrl) Gurpsrsemerd Gallb@H GuUrgl sTemen (@)L THMID HEHL_6USHT6V
WeTGarhmid esHLBFEMSHI?
) Bl rress ) YGrTLLerassir
(3)) 6TV LT TEdTH6IT ) Y@L L T63Ta hLD 6T6V L [T 63T (61HLD

The electrification of two different bodies on rubbing is because of the transfer

of
a) Neutrons b) Positive
c) Partly negative and partly positive d) None of these

3.  lgemevsaflsTalFaerensd MoTevfldalngi
<)) Gausib 2}) F(BF) @) ey ) S|Bli Cleuenst
The amplitude of the sound wave decides it
b) Speed b)Pitch c) Loudness d) Frequency
4.  fler ellersSlDasrer @)ewipser GlFiiwLneTLBID Hevfliotd
<)@ By <}) HTLblTid B)) LmisivL_sbr ) Guirgmest
The element used for making the filament of a bulb is
a) lron b) Copper c)Tungsten d) Boron
S R LU P Tty AR B IR dau )
) 2 Cr | TISTEITEH T U|LD, [Bls (D 6T6v8T6W 60T | LD o] LIH 6T 1T 6aT
<) @Cr e sTevTeneTLD, CoumLi L e eTessTemewTLD 6% TevoT(h6iT6mesT
@3)) 2CrojamsTavTensTwd, CoumLil L Blenm eTessrenewTid 6)s% Tessr(hsiemest
") eI sTewT WHMID Blenm eTevsr Yaslwr @) CouminiBHlsiTment.
In all atoms of an element
a) The atomic and the mass number are same
b) The mass number is same and the atomic number is different
c) The atomic number is same and the mass number is different
d) Both atomic and mass numbers may vary.
6.  pifler BlrpIlr 519075 56TeI0SE STTERTIDS @) HLILIDE!
9) FLBUL_ (DB ) HTHESHET

@) sriuGesri wHmiD eopLsTiILGsTL ) STewThglerer Lme LT herdsir
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Permanent hardness of water is due to the presence of
a) Sulphates and chlorides b) Dust particles
c) Carbonates and Bi carbonates d) Other soluble particles

7. mYCrTCasfGuiL 1 B ewtewn) ull fluim @b

9|) eWeUTEIV 9}) VBT 3)) weEpemF ) urdieflwr

is a prokaryotic micro organisms

a) Virus b) Algae c) Fungi d)Bacteria

8. 2 L efletre_er@pBlewsven wETTHSLILTTLONSS6V6T6TLIG)

6T6uT L1LI(H) LD
9) CamrilGuirevL_rdlern <) CammiflGuiren Ll s
3)) CamriGuiTenamesrdlerv ) Gan TLHl Guirailedlderv

Maintenance of constant internal environment of the body is known as

a) Homeostasis b) Homeophytes
.c) Homeokinesis d) Homeophilics

9. o massr Qeuallliyms sralewes (LererT) &rmi@eougiersg?
<)) sTEIIDL 24) GHSCBRIDL

®3)) swFBTIT F) &TLI6TVWL6D

External ear (Pinna) is supported by
a) Bone b) Cartilage
c) Tendon d) Capsule

10. wenTLriileL Lmiihg) LoessTewTey)I6iT 29r(H)(HeyLD (LHe»M
9|) B TLITFeTLD @p) ULy B LT FeTLd
@) OsBliyBiuresTid /) Q&L BB TLITFeTID
The method in which water flows over the soil surface and allow it to infiltrate is
a) Irrigation b) Surface irrigation
c) Sprinkler irrigation d) Drip irrigation

1. sowflefluiler Sheng eTaTm OjewLpda LB Ueui wri?
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O ) LOIT T L9 63T6Y| & T 5]l 9}) B TS TIDGILIV
@) sriederiiefsT ) FTireveLITIGLISD
Who is the father of computer?
a) Martin Luther king b) Graham Bell
c) Charlie chaplin d) Charles Babbage
12. wewreri Qaiig CQFwensv K6 @& (UNdo) gmise, sulfl allsns e1g)?
o) Ctrl+Z <) Ctrl+R @®)) Ctrl +Y m) Ctrl + N

What is the short cut key for undo option?

a) Ctrl+Z b) Ctrl+R c) Ctrl+Y d)CtrlI+N

ugg- I/ Part |l
@O0 (i) etemen CQuignib LSlewesthal alleTTdSEmE @ Fr(HESELTS aflewwef 15x2=30
(i) esu@eurm Ufalleib Gonbsg phaHISTTESEHES@ aflenL_wefldsseaLd.

Note: (i) Answer any 15 questions in brief:
(il) Must answer at least 5 questions from each group.
Uifley— 9 / Section-A
13. Qurg eurs 2 _srer emafl B ewmHefer GLwTEmerd &[Hs.
Name some common systems of measurement.
14. wurdiy @)eellend STeuUTnIsSEHd @) 6TeleUTN] 256 S M
How does surface tension help a planet?

15. srpPlev  sefluller glewg GCeusid 3x108 Bal-lwhHmid e _ssdlev  spefluflesr
FewaGeausid  2x108  fail'srhewmls QuTrMdss 20 &5560  spaflailevassv

6TGOOT6W GOITT> I T 63T . .
www.kalvichudar.com |
Speed of light in air is 3x108 ms-1 and the speed of light in a medium is

2x108ms-1. Find the refractive index of the medium with respect to air.
16. g6t GlauliL eTHLSHF M6IT euewTwim)

Define specific heat capacity.

17. WledTLpevTLD LT SH60l65T LIWISTHEDET & (Hb

Give some uses of electroplating.
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18. Qewadh@Gd @)wrFFa)dHEd @) renr(® Coumur(hEHewens & [Heb.

Give two differences between music and noise.

19. eueTQUIT (6T HMID CLo6dTOLIT (6T 6TETM TV 6T6T6UT

What is hardware and software?
Uifley — g/ SECTION - B

20. Mesreupid GMIuTHEBETTEL HMEHBLIGILIMID SHevflLombisefledT ClLIwTHeneT 6T(LHLHIS5.
<) Na <) Ba 3) W. w) U.

Name the elements for the following symbols.
a) Na b) W c) Ba d) Al e)U

21. oweardg| LILpMBIG @1HLD, & 1% M) LD LIPS LILIT T & 6V 18 1D6Y >
2 _6TOTTHITNSTEUT? SHTTENTLD & (H.

Do all the fruits and vegetables undergo browning? Give reasons.

22. GV mISEEHL 63T 6L TE6v160T 6)leWITEMUI 6T(LDI%.

Write about the reaction of nitrogen with non-metals.
23. LP&HHMTL alleneiTsEhbHTar PHMILT CUDTeUTUILILITL 1§ 6D6ST 6T(LS] B|dHeW6vT

FLo6T O FUIS.

urewurew + &GearmrifleT ggrrsfvumsfv CueTLT&HGCarTenr(h

Write the skeleton equation for the following word equation and then balance
them.

Phosphorous +Chlorine — Phosphorous Pentachloride.

24. B (i Fieu HEOTLILITET HTI6EWTLD dn M)

Water is a universal solvent. Why?

25. UAleVBISGET LHMID STIBISEHSE @)ool Cuuwirer CeunmienLodsT wireneu?

Distinguish between acids and bases.

26. cusv@ ()6 6T6OTLI| 6T6IT6UT 7

What is right alignment?
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27.

28.

29.

30.

31.

32.

33.

34.

Nifley — @)/ SECTION - C

Gyt @D BiewTay uilflasr wesflglsL eTeksurm HiewLpdlesTment?

How do harmful disease causing microorganisms enter into human body?

LewrGuimsasw il BaaflsL 6T6H6m6T 6u@LILSH6T 2 6iTard)? jemeuTeneu?

How many classes are there in Bryophytes? Name them.

Yewa LU & & hallujL 6T Hessrenent syedr spliLl(h#Gmmib.

Why do we compare the Human eye with the camera

LM emeuuiledT 6TeYIDLd o (Pl6TeUEUTH LMLILIGDE TDHMSHTH 2_6T6emg)?

How is the skeleton of bird well-suited for flying?

LHeuewL_gedler GLITg) sTHLIBID LOTMHMBISET WTeweu?

List out the changes which occur during puberty.

LV flutemsv BITLD 67637 LITEIBTHS Couersr(hid?

Why should bio diversity be conserved?

2 uflifl &1 19 EHTL 19 H6T 6TETMT6EV 6T6IT6VT 7

What is Bio- indicator?

sliflsig elleheprerGapslrm upml @k Ay GBI 5HS.

Give a brief account on krishi Vigyon Kendra.

ug# -l / Partll 3x4=12

@Oy : (i) oewersg allesTdsEhd @0 allewL weflddeyb

(i)speu@eumrp alflesrrailh @b bTedir@, LHILIG)LITS 6T

(i) Cpeweuwiresr @)L_Bigefled LIL 1D euewra.

Note: (i) Answer all the questions

(ii) Each question carries Four marks

(iii)Draw diagrams wherever necessary
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35. ) YYsmEF FriHE WSS IB&MNEHIMG  eredTLDS  BlepLild @i

Crrasemestenw allerd @s.
(s0evg1)
Q) QBT LHMID LIGSE)ewenTLILF FDewm ailerd @ s.
(a) Describe an experiment to prove that the pressure in a liquid increases with

depth. (or)

(b) Explain the parallel and series circuits

36. o)) (i) 996CasTiyl L seflwmiseafler @)arslnenerd &rewms.
a) Nacl b) AIPO4
(i) K& TewIDFLOGTUT(HHEDETFFLOITOF IS
a)Hz2+cl2 —> Hcl b) N2+ Hz = NHs
2p) BB S1g.67 B eTeTDTED 6T6bT6N? @)SF6tTnID sTSIUTY) B HSIILGSDSI?
(a) (i) Find out the valence of the underlined element.

(a) Nacl (b) AIPO,

(i) Balance the following equation
a) Hotclo —» HCL
b) N2 +H, — NH3

(b) What is permanent hardness of water? How is it removed?

37) ©) anailsgmev wHMID GHalsFeme STeuTkISEhdsE @ewL_Guw o srer
TCHeID MbHKH CoumLIT(HHEWET 6T(LPFI%

<) 2 ullflerhisensy srepriiu®n LLGam| auenSWTT B)wdhsHnhisenarts LnHM]

(a) Write any five differences between monocot and dicot plants.

(or)

(b) Discuss various types of movements seen in living organisms.
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ug# IV / PartIV 3x2=6

GOl : () aCseib cpsTmy allerTdsEnds@ ailewL werfl

(i) uLmbisewer Ogaflurs euswrhgl aCHID @resr(h) LITHBIHD6TSH

&M 51D
Note: (i) Answer any three questions

(i) Draw neat diagram and label any two parts

38) umeww @)svev ailewerey

Green house effect

39) Gemgwid e
Sodium atom

40) sTHHL VD
Magnetic field

41) Cu&eNCumdaliGu sl
Bacteriophage
42) oL

Yeast
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